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2.4 Radical Expressions, Multiply and Divide (Rationalizing the
Denominator
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Question: Can youedd-angd subtract radicals the same way you muliply and din wle them? ( 1
e.2.) Since \/u Wb = Jabldoes Va + Vb = Jar A Nomnn
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Don’t make the following mistakes:
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Multiplying Radical Expressions: Use the Product Property. Use the Dastnibutive Property :\\\\Q‘l \II)\\ muluphy
radical expressions with more than one term.
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Dividing Radicals =

The Quotient Rule for Radicals
———

For any real numbers Q/c_l and % where b # 0,

Examples: Simplify.
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Examples: Divide and, if possible, simplify.
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Rationalizing Denominators with One Term:

—

Rationalizing the denominator means to write the

in the denominator. To do this, multiply by 1 under the radical or
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denominator a perfect power.
Examples: Rationalize each denominator.
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Rationalizing Denominators with Two Terms:
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an equivalent expression but without a radical
multiply by 1 outside the radical to make the
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To do this, multiply by | under the radical or multi
power. However, since the denominator now has t
denominator.
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@a of a binomial Radical Expression: Conjugates have the

opposites. For example, these two expressions are

What hap

(3—\/5 (3+\/§)=
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ns w ou multiply these conjugates together?
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ply by 1 outside the radical to make the denominator a perfect
wo terms, we will have to multiply by the conjugate of the

s;a\me first lerm\\\ilh the second terms being

conjuga(cs:@ = \E/and 3 +_\"'; .
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Examples: Find the conjugate of each number.

a) 4+\/§ b) —3~—ﬁ
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Examples: Rationalize each denominator by multlplylng by the conjugate.
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